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No No K% B 4 BE M OB M OB ORI ARAb
1 181 BIlERY T3 SC 1:02.47 1:03.45 2:05.92 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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F=890
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No No K4 B 4 Mg M W M O R A1 b
1 183 M B T 330SC 1:01.98 57.78 1:59.76 0.00
2 182 g Ha- Jr 73 SC 1:03.88 1:06.79 2:10.67 81.08
DID NOT START [1st RUN] 0
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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F=890
NERL AR} =N EEE 1AXH 2KH A B 1v—X
No No K4 B 4 Mg M W M O R A1 b
1 184 T & AR R A 4732  46.46 1:33.78 0.00
2 189 FHE BumSC 58.55  47.82 1:46.37 119.48
3 188 g f5—HD T 330SC 55.77 54.30 1:50.07 154.60
4 185 Al R AV R A 1:05.66  53.81 1:59.47 243.81
DID NOT START [1st RUN] 1
187 = B TAVN E A
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
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HEPR % 23(21) A K — R 13:35 HER%K 23(21) A K — R 14:03
KA F ES4E VAZE R F ES4E VAT
A=K7 4=y a2 KIR -1°C / 0°C ABR—N/"T 4=y a2 KIR -1°C / 0°C
F=890
NERL AR} -p B - 1KH 24KH A F L—X
No No K4 B 4 Mg M W M O R A1 b
1 196 B Wikl T3 SC 5110 50.45 1:41.55 0.00
2 192 TERE TE AN R A 1:02.30 58.57 2:00.87 169.32
3 195 fEAT EA AN R A 1:00.06 1:08.34 2:08.40 235.32
4 193 2 T3 SC 1:06.27 1:03.72 2:09.99 249.25
5 194 (i B 1A T 330SC 1:10.68 1:09.13 2:19.81 335.32
DID NOT START [1st RUN] 0
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 1
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